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QUESTION 1

What does ESXi Autoconfiguration do? 

A. sets up host profiles 

B. configures system network and storage devices 

C. determines the number of hosts to be deployed 

D. configures Auto Deploy 

Correct Answer: B 

 

QUESTION 2

A vSphere administrator wants to deploy a new vCenter Server 6.7 with an embedded Platform Services Controller in
the environment. 

What is an advantage of this of deployment? 

A. VC and PSC are local to each other. 

B. Fewer services run on the VC. 

C. Fewer services run on the PSC. 

D. VCHA is not needed. 

Correct Answer: A 

 

QUESTION 3

Per a customer request, a vSphere administrator increases the number of vCPUs in several VMs within a cluster. After
the vCPU increase, the upgraded VMs exhibit slower performance. The vSphere administrator uses esxtop to check
ESXi host performance. 

Which two counters should be checked to detect CPU overcommitment? (Choose two.) 

A. %SWPWT 

B. %USED 

C. %MLMTD 

D. %SYS 

E. %RDY 

Correct Answer: BE 
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QUESTION 4

A vSphere administrator attempts to create a VM-VM affinity rule but is unable to locate the option in the vSpehre
Client. 

What would cause this to happen? 

A. vSphere DRS is disabled 

B. vSphere DRS is set to manual 

C. Admission control is not enabled 

D. Affinity rules are only managed using the Host Client 

Correct Answer: A 

 

QUESTION 5

A VM is experiencing inconsistent network connectivity between two ESXi hosts connecting to the same physical
switches. The effect of the inconsistency is this: 

1.

 vMotion from host 1 to host 2, network connection is down 

2.

 vMotion from host 2 to host 1, network connection is up 

3.

 vMotion from host 1 to host 2, network connection is up 

The vSphere administrator wants to ensure the physical switches connecting to the ESXi are configured correctly. 

How can this be accomplished? 

A. Use Network Health Check to verify the VLAN trunks on VSS 

B. Use vSphere Health Check to verify on MTU settings on VDS 

C. Use Network Health Check to verify the VLAN trunks on VDS 

D. Use Network Health Check to verify MTU settings on VSS 

Correct Answer: D 
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